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253  Which formula is used to calculate
EMF/phase in a ideal alternator? | Teh 3Gl

3TeeTAe H EMF / thal T ITUTAT et o forw v
T T 3TN TehaT ST 82

_ QFT

T 222
_ QFT

T 444
E=2.224FT
E=4.44 4 FT

o6 W >

254  Which rule is used to find the direction of

induced emf in an alternator? | 3Tecdaiel H IRT
STATE $r e @Wea & forw forg g &1
39N FoRT ST B2

A Corkscrew rule | ﬁ@jﬁ?’ﬂ?

B Right hand palm rule | aﬁ%ﬁmrﬁg@)ﬁrar
o

C  Fleming’s left hand rule | FITH3T & STT &T2T &1
o

D  Fleming’s right hand rule | FIT&T & IfgaT
gy & faad

255 What is the name of the part of alternator? |

3TeeTaAe & HT3T T ATH FAT§?

Stator | ey

A

B  Exciter | 3cdole

C Salient pole rotor | ﬁ@%ﬁﬂﬂ

D  Smooth cylindrical rotor | fIeaTT de=IThR
X

256 What is the formula to calculate emf

equation of an alternator? | 3Tec{aicX a?é'Q?TQ'CF»

THTHIUT hl ITUTAT el T G T &2

A E=4.44KeK T dm
B E=2.22KqKcFdm

C E=4.44KyK FT Pm
D E=111K4¢KcF Pm

257 How alternators are rated? | oAy T
Y XS forar STarg?
KVA | hdIT
B Kw | frairare
C MW | #Imdre
D KV |&dr

258 Which formula is used to calculate the
percentage voltage regulation in alternator? |

Heeteied H Uidrrd oot fafaraa e S arorar
ol & TIT v [ o1 TR fohaT ST &7

A VrL=VNL x 100
VFL

VNL=VFL x 100
VFL

B
¢ YmTVeL 900
D

VnL

VrL=VNL x 100
VL

259  What is the supply frequency of an
alternator having 6 poles runs at 1000 rpm? | 1000

3TRUITH X 6 ¢fal aTel Teh oA hl 3MYfet

3gfed FaTE?
A  25Hz
B 40Hz
C 50Hz
D 60Hz

260 Calculate the speed of an alternator having 2

poles at a frequency of 50 Hz? | 50 Eé\\_ﬂ ﬁ}ﬂﬁ‘_’%f

TR 2 ¢l aTel Teh 3eeTACR ol ITFA hY IT0TAT i

A 1500 rpm
B 2500 rpm
C 3000 rpm
D 6000 rpm

261 What condition the lamps become dark in
dark lamp method of parallel operation of two

alternators? | &F 3Teealex] o THATATAR TdTelel
sTeh ol fafer #F o v Py A ger sma g2

A Terminal voltages are equal | i et
CRERES
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B Voltage and frequency are equal | drecar 3R
C Voltage and power rating are equal | arecal
IR IET IR E

D Frequency are same in both alternator | &1

el H e HATT BT &

262 How to compensate de-magnetizing effect
due to armature reaction in an alternator? |

3eeTeled H TR 9T Tehar & RT3
HTACTSTT T37TT FT TS Hd He?

A Reducing the speed of alternator | 3eclael
T AT T HH AT

B Reducing field excitation current | Bles
SccloTelT UTRT T e el

C Increasing field excitation current | Fres
Sedolel URTH gg

D Increasing the speed of alternator | 3Tee{aiel
EEIIGEEE)

263 What is the use of synchroscope? |
TSI ST 3TN AT 2

A Adjust the output voltage | Waﬁmaﬁ'
ARSI

B Adjust the phase sequence | WW
ARSI

C  Adjust the supply frequency | mqj%‘rmj%r
ARSI

D Indicate the correct instant for paralleling |

AT o TN HET el HoheT &

264 What is the name of the equipment that
provides D.C to the rotor of alternator? | 3Teeiaiel

& AT I D.C TeTeT et dTel 3TN T ATH FAT

Exciter | 3ccoleh

A

B Inverter | 30-6&1

C Converter | FeAdeX
D

Synchroniser | TPIATEoR

265 What is the purpose of damper winding in
alternator? | 3TecialeX H SFIR ATSTSdT &l 35T

FATE?

A Reduces the copper loss | aﬁ?wﬁ
HHBATE

B Reduces windage losses | aqaﬁaﬁrm
PRATE

C Reduces the hunting effect | f¢aT o THTT &Y
HHHATE

D Improves the voltage regulation | dlecal
fgaT A gurR aare

266  Which condition is to be satisfied before
parallel operation of alternators? | FoedeT &

FHATATR FTelel & Tgel fohdt e 1 dgee fanar
ST 82

A Rating must be same | Y31 AT BT AMRT
B Phase sequence must be same | WW
AT gl AT

C Rotor impedance must be same | e Ffa=Tem
AT glail AT

D Stator impedance must be same | TeI

SFAISH AT glaAT AifeT

267 What is the speed of an alternator
connected with a supply frequency of 50 Hz at rated

voltage having 4 poles? | 4 GIel dTel {8 dlecol I
50 §&ST T (et 3TTgfeet & HTY I3 Ueh 3Heelalel
Hrafa FarE?

A 1000 rpm
B 1500 rpm
C 3000 rpm
D 4500 rpm

268 What condition the two lamps become
bright and one lamp dark during paralleling of two

alternators? | @I 3TeeeIell o AR gl o GIRTeT
al ol fohd gTeTc & STefd & 3R Teh ol 37 ST 8?
A  Terminal voltages are equal | fiaa et
TR E

B Voltages and frequencies are equal | @recat
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3R e SaR &
C Voltages and phase sequence are equal |
e 3R thaf 3fefshd ST 8

D Both the alternators receive same frequency |

gt AeeTeeY HAN HMgfed Ired A &

269 What causes the terminal voltage of an
alternator reduces, if the load increases? | gfe AR

JedT g, aY 3TccTaiey &bl cfHeTol dlecol ShH &l STl
e?

A  Field resistance | &3 9faRrer

B Armature reaction | 3THTR gfafsar

C Inductive reactance | 9 Yfafshar

D  Armature resistance | 3TTHTXT Taer

270 What is the purpose of using damper
winding in AC generator? | AC STel{eX & 379X

TS ST AT 3TN ol T 352 FAT 7

A Prevents heating | 13T T UshdT &

B  Reduces copper loss | aﬁ%waﬁrw
PRATE

C Reduces windage loss | @mﬂaﬁwm%
D Prevents the hunting effect | §7¢aT & THTT T
AT

271 What is the type of alternator? | 3Teciaie
T IHR FAT§?

A Brushless alternator | 2T If@d 3Tectaiex

B Three phase alternator | cilel thof 3TeeIsiel
C
D

Single phase alternator | Tdhol thef eclaie]
Salient pole type alternator | @ﬁm—a%aw
3eciae

272  Calculate the speed in r.p.s of the 2 pole,

50Hz alternator? | 2 tﬂﬂ', 50Hz 3Teelalel & r.p.s =
TfeY Y ITOTAT Y ?

A 50rps

B 100 rps
C 1500 rps
D 3000 rps

273  What is the advantage of using rotating field

type alternator? | E[0Tel &1 WehIX 3ecTeicT T
YT et T FIT BIAST &2
A Easy to locate the faults in the field | 817 H gIY

T 9T STl 3T §

B  Easyto connect the load with alternator |
3TeeTeiel & HIY IS I dholare halT T &

C Easy to dissipate the heat during running |
alsa & Rt a1t B elteT TS

D Twoslip rings only required irrespective of No.

of phases | &I &1 Rl &7 3TaTSAT BT &, TR
il hr G&AT fohcsir T gY

274 What is the effect in increasing the field
excitation current in alternator? | ol H

HIeS Scdolell HRT T T&Tel § FAT THTT IS 82
A  Prevents demagnetizing | IEEGGECIRIET] %’
B Over voltage protection | 31T dleear &
HETOT

C Dead short circuit protection | ﬁﬁ%ﬁé"\qﬁﬁ'
HEToT

D Alternator will be over loaded | 3TeelaieX
3T ASS glem

275 Calculate the pitch factor (KP) for a winding
having 36 stator slots 4 pole with angle (a) is 30° in

alternator? | 3eeTaIe H 30 ° HIUT (o) & TTY 36
T TAAIE 4 HIel aTel FATIGR & forw ey therex

(KP) T ITUTaT hi?
A 0.942
B 0.965
C 0.978
D 0.985
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276 What is the cause for hunting effect in

alternators? | 3Tecyae H §1EaT & TTd &1 HROT
FATE?

A Due to over load | 31f8& R & HROT

B Running without load | ST IS F T @I &
C  Running with fluctuation of speed | IIfd &
3AR-TIGId & T TA @l o

D Due to continuous fluctuation in load | CIEE:]

A 3aR-Ted & HRUT

277 Calculate the voltage regulation in
percentage if the load is removed from an
alternator, the voltage rises from 480V to 660V? |

i T e A el ger fear sirar g, ar
oot 480V ¥ 660V deh 96 SITdT &, el
fSgas ufaerd # arorEar fifeae

A 272%
B 325%
C 375%
D 38.5%
Answers :

212-A|213-A|214-A|215-D | 216-B | 217 -
A|218-D|219-D|220-A|221-D|222-B
|223-B|224-A|225-B|226-C|227-C| 228
-A|229-A|230-C|231-C|232-D|233-D
[234-D|235-A|236-C|237-C|238-D| 239
-A|240-A|241-A|242-C|243-A|244-A
[245-D | 246-B | 247-A | 248-C | 249-A | 250
-D|251-A|252-A|253-D|254-D | 255-C
| 256-C|257-A|258-B | 259-C | 260-C | 261
-B|262-C|263-D|264-A|265-C|266-B
| 267-B|268-B|269-D|270-D | 271-A | 272
-A|273-D|274-A|275-B|276-D | 277-C |
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